TWSA

MHS25/TT

e MHS2 MHS2 MHS2 MHS2 MHS2 MHS2 MHS2
= -16D -20D -25D -32D -40D -50D -63D
EL/2(mm) 16 20 25 32 40 50 63
TENE =5
EREIEE 0.2~0.6MPa 0.1~0.6MPa
WEFRINRE -10~+60°C(FRFLE)
BEERE +0.01mm
AN THES 120c.p.m 60c.p.m
i E
;EA Smhil
FREA(N) SMEEEE 21 37 63 111 177 280 502
EH0.5MPa  A#&EXF 23 42 71 123 195 306 537
— FREBLFIEfTREMmM 4 4 6 8 8 12 16
= 3
MHS 2 -120(-D o
AT /v 2
—|_ - SEARREA7075-T6 (BFM=E ) — ARG, BAREEREREL.
2: 2 T RABHONRIIFBSNE, EBSUS440CHHE, EHNN. L&), RALIE,
' ‘16 20.25.32.40.50.63 MEBEETE, INLEEE. E8HES, #E'&%l%ﬂ%%rtj(o
e SREHOZEE, SHRRIDERE—ENRME, 25775 R EERm A .
SMERTE
cB 7
MHS2- | (FHEFED)
16D,20D,25D
olo <§§
o G
| B
¥y |
\
gl 2 P
E I G (FHEMED)
2% 03.4iE7L o OWA F1.5
6.5 FLRSC(REMA L) AA
RA 3 AB RA
OVA #VB
Wj@l ™
B ool —ole- g2 1 s
ﬂ}@ @ ©
) <
o||a P>
(FFEDO) 4xM3x0.5 BEURTB
(FARTDC) MR AR
(mm)
ne AA |AB | B |[CB|DC | DO |EC |EO | FX |FY | FZ| G |II | J | K|NA NB o P Q
MHS2-16D 35 [ 32 | 30| 11|30 | 34|10 | 14 [125]|11 3 |25 | 4 | 10| 4 8 | 5h9 4000 | 2 M3x0.5 | 6
MHS2-20D 38 | 35 | 36 | 13 | 36 | 40 | 12 | 16 |14.5|13 3 |27 | 5 | 12| 5 | 10 | 6h980s | 25 | M5x0.8 | 7
MHS2-25D 40 | 37 | 42 | 15 | 42 | 48 | 14 | 20 [17 |145| 5 | 28 | 5 |14 | 6 | 12 |6h9045 | 3 M5x0.8 | 8
S RA | RB | SC | TB VA VB WA XA XB
MHS2-16D 18 | 16 |8 | 5 |2H9*}™ | 2 |[17H9*§%™® |2HQ 4% | 2
MHS2-20D 24 | 18 | 95| 6 |2H9*9® | 2 |21H9*3%2 | 2HO *30% | 2
MHS2-25D 26 | 22 |10 6 |3H9*30%5 | 3 |26H9*%2 |3HQ *30%5 | 3




MHS25/TT

TWSA

MHSZ 2x OSAE AA
- 3 RO (D
SBRARIZEAT) 3 AB
32D, 40D RA
7
\ /
%
o Tl <I _ O
4 m
c RIS 2
&/ .
g
[ —] A
i 2 <> <
>
45 | | a 2 | o0 2xUA #4UR UB
4xM4x0.7 $R40R8 (RERRA)
(FFEfDO) Mg iR, FZ FY FX
(FIEDC) OWA 2
cB CA  Msx0.8 OWA #c
(FHerrEn)
olo @
ww -
=&
K|E
oy |
o
- . e w
2 (FiEMEN)
(mm)
El AA |AB | B |[CA [CB [ DC | DO |[EC |[EO | FX [FY [FZ | G [II | J L [NA| Q [RA|RB|SA
MHS2-32D 44 | 41 | 56 | 8 |16 | 56 | 64 | 16 | 24 |23 [205| 5 |305| 6 | 20 [2H9*§*® | 14 | 11 | 38 | 25 | 45
MHS2-40D 47 | 44 | 62 | 9 |17 | 62 | 70 | 20 | 28 |26.5|235| 6 |32 7 | 21 [3H9*0™ | 16 | 12 | 44 | 28 | 55
S SB UA_ [UB | VA VB | WA XA XB
MHS2-32D 8 | M5x0.8 | 10 |3H9*9%5 | 3 |34H9 %2 |3HQ*8% | 3
MHS2-40D 9.5 | M6x1 12 [4H9 390 | 4 [42H9 892 [4HO*™0 | 4
50D, 63D
4xP5. 1B AA BA
9.5 NIARSC(REAA) AC AB ‘%’
Y OVA VB
)
Fan\
m I \ }ﬁ
'3 <zt I o L E
I S [ /J
@ m m \¢ 4
N =z x
S 7y n(
/, \
<> s 3
o Q */c& 4xM6x1 $BEUR 12
403 200 | 20
4xM5x0.8 $REUR10 (EERET)
(FEIDO) i R FRIRTL FZ FY FX
PABTDC,
( ) cB CA  M5x038 OWA
[ [E== e
olo $
w W -
&
K|E
v
=) N —
- !I G M5x0.8
(FiEmEn)
llem
(mm)
L AA |AB [AC | B |[CA [cB |DC |DO |EC [EO [FX |[FY [FZ | G [I | J | K L [ M|NA NB
MHS2-50D 55 | 52 | 3 | 70 | 9 |20 | 70 | 82| 22 | 34 | 31 |28 6 |375 24 | 10 [4H9*3%0 | 2 | 18 |10h9 § g
MHS2-63D 66 | 62 | 4 | 86 |12 |22 | 86 | 102 | 30 | 46 | 38 [345| 7 |44 | 11 | 28 | 11 [6H9*% | 3 | 24 |12h9 § .45
e o | a |RA |RB|SC VA VB WA | wB XA XB | YC
MHS2-50D 5 |14 |52 | 34 [ 12 |4H9*39%® | 4 |52H9 %9 | 2 [4H9*§%®0 | 4 |7
MHS2-63D 55 | 17 | 66 | 38 | 14 |5H9*3%0 | 5 |65HY 0 | 2.5 |5H9* | 5 | 7.5




